
Traffic Parts, Selected items of

POLELINE HDW

800.345.6329 www.trafficparts.com136
©Traffic Parts, Inc.

Pic# P/N   Description:
1     4354     MACHINE BOLT W/NUT,GALV      5/8"X20",170#/C,40/BOX
2     4349     OVAL EYEBOLT W/NUT           5/8"X10",146#/C,50/BOX
2     4348     OVAL EYEBOLT W/NUT           5/8"X12",156#/C,50/BOX
2     4347     OVAL EYEBOLT W/NUT           5/8"X14",168#/C,25/BOX
2     6989     OVAL EYEBOLT,W/NUT           5/8"X18",190#/C,25/BOX
2     4344     OVAL EYEBOLT W/NUT           3/4"X10",200#/C,25/BOX
2     4346     OVAL EYEBOLT W/NUT           3/4"X12",220#/C,25/BOX
3     4319     OVAL EYENUT,5/8"             54#/C,100/BX
3     4318     OVAL EYENUT,3/4"             53#/C,100/BX
4     4343     STRT THIMBLEYE BOLT W/NUT    5/8"X8",120#/C,50/BOX
4     4342     STRT THIMBLEYE BOLT W/NUT    5/8"X10",136#/C,50/BOX
4     4341     STRT THIMBLEYE BOLT W/NUT    5/8"X12",150#/C,50/BOX
4      101     STRT THIMBLEYE BOLT W/NUT    5/8"X14",50/BOX
4     4340     STRT THIMBLEYE BOLT W/NUT    5/8"X16",188#/C,25/BOX
5     4339     ANGLE THIMBLEYE BLT W/NUT    5/8"X10",136#/C,50/BOX
5     4338     ANGLE THIMBLEYE BLT W/NUT    5/8"X12",150#/C,50/BOX
5     4337     ANGLE THIMBLEYE BLT W/NUT    5/8"X14",164#/C,25/BOX

1

6 7 8

2 3 4 5

Component parts for BANDING

6     2441     BRACKET,SIGN,BANDING         W/SS BOLT+WASHER(50/BOX)
3491     CLAMP,FREE END               10"DIA X 3/4"W,SS(25/BOX)

7     2152     CLAMP,GEAR,1/2" BAND         4.5"-6.5" RANGE,100/BX
8     4017     BANDING BUCKLES,1/2"         201 SS (100/BOX)
8     4016     BANDING BUCKLES,5/8"         201 SS (100/BOX)



Traffic Parts, Component parts for

BANDING

800.345.6329 www.trafficparts.com137
©Traffic Parts, Inc.

Pic# P/N   Description:
1     4015     BANDING BUCKLES,3/4"         201 SS (100/BOX)

4021     BANDING BAND,1/2" (.030)     201 SS (100FT/ROLL)
4020     BANDING BAND,5/8" (.030)     201 SS (100FT/ROLL)
4019     BANDING BAND,3/4" (.030)     201SS(100FT/RL),RED TOTE

2     4018     BANDING TOOL,STD DUTY
3     6087     BANDING TOOL,HEAVY DUTY

1 2 3


